17 -23 =

1 mark
-4 +11=

1 mark
8-3-12=

1 mark
368,701 + 1,000 + 1,000 =

1 mark
238,888 + 1,000 + 1,000 =

1 mark

388,000 + 10,000 + 10,000 =

1 mark
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1

12

288,888 + 1,000 + 1,000 =

499,999 + 1,000 + 1,000 =

301,301 - 1,000 - 1,000 =

211,000 - 1000 - 1000 =

402,900 - 1,000 - 1,000 =

30,000 - 100 - 100 =

Fern House School

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark
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13

8,054,000 = 8,000,000 +

14

+ 3500 = 8,400

15

87,999 - 48,999

16

3,050,020 = 3,000,000 + + 20

17

602 - =594

18

20-4x2=

19

120-15x5=

Fern House School

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

Page 3 of 4



20

21

22

501,900 - 1,000 - 1,000 =

60-42+6=

700 -

= 280

Fern House School

1 mark

1 mark

1 mark
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